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#include <reg52.h>
#include <intrins.h>

//f=11.0592MHz
sbit CLK=P1"1;
sbit SDA=P170;

unsigned int ad_gn1201(void){
/IGN1201 ANy EHE B IE(H
unsigned int ad=0;
unsigned char in_dat;

unsigned char i;

CLK=0;

SDA=1;
for(i=0;i<20;1++){
_nop_();
_nop_();
if(SDA==0){

break;

for(i=0;i<16;i++){
CLK =0;
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
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_nop_();
_nop_();
_nop_();
_nop_();
_nop_();

CLK=1;
in_dat=0;
ad<<=1;
if(SDA){
in_dat=1;

H
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();

ad+=in_dat;

}
CLK=1;

in_dat=(unsigned char)(ad>>12);
in_dat+=(unsigned char)(ad>>8);
in_dat+=(unsigned char)(ad>>4);
in_dat+=(unsigned char)(ad);

if(((in_dat&0x0f)==0)){

ad>>=4;
ad&=0xfff;
}
else{
ad=0xf000;
}
return(ad);
H
void timerQ_isr(void) interrupt 1
{

THO0=0XBS;//10MS
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H
void timer]1_isr(void) interrupt 3
{
TL1+=0XCC;
TH1=0XCC;
H

void SERIAL (void) interrupt 4{

if(RI){
RI=0;
H
if(TT){
TI=0;
h
H
void delay(void){
unsigned int cnt=0;
do{
cnt++;
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
_nop_();
}while(cnt<20000);
}

void main(void){
unsigned int ad_value;

CLK=1;

SCON=0x50; // XHHH1
TMOD=0x21; // RHE s 1 1807

TH1=0xe8; // HNEFERATA, BHFH 1200
TL1=0xeS8;
TR1=1;
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THO=0xfT;
TLO0=0x9b;
TRO=1;
ETO=1;
ES =1;

EA=1;

while(1){
ad_value=ad gn1201();
if(ad_value<0Xe000){//12 {743 %5 & 54 A W

TI=0;
SBUF =(unsigned char)(ad_value>>8);
while(TI==0);

EA =0;

TI=0;

SBUF =(unsigned char)(ad_value);
while(TI==0);

TI=0;
EA =1,
}
delay();
}
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